

# LOCATION

Conveniently located in the heart of Fuzhou, the thriving capital of Fujian Province, Shangri-La Hotel, Fuzhou overlooks Wuyi Square and the scenic surrounds of Wushan and Yushan. Its central location is ideal for both business and leisure visitors and Fuzhou Changle International Airport is just a 45-minute drive away.

# **ACCOMMODATION**

Shangri-La Hotel, Fuzhou comprises 414 beautifully appointed guestrooms and suites ranging from 39 to 237 square metres. All rooms feature elegant and contemporary décor, all with stunning views over Fuzhou city.

## **GUESTROOMS**

Categories	Rooms	Area (m²)
Deluxe Room	263	39
Executive Room	32	43
Premier Room	16	74
Executive Suite	26	81
Horizon Deluxe Room	57	39
Horizon Executive Room	8	43
Horizon Premier Room	9	58 / 74
Specialty Suite	2	118
Presidential Suite	1	237



## **GUESTROOM FEATURES**

All guestrooms offer a wide range of deluxe amenities including:

- 24-hour room service
- Data port / broadband Internet access
- IDD / DDD telephone with bathroom extension
- Satellite TV channels
- Electronic safe
- · Separate shower and bath
- Hairdryer
- Voice mail
- · Iron and Ironing board
- · Mini-bar and refrigerator
- Telephone point for fax / computer
- · Coffee and tea making facilities

## HORIZON CLUB PRIVILEGES

On Horizon Club floors, the following exclusive benefits are provided:

- Printer and fax with private number
- International and domestic newspapers and magazines
- Complimentary afternoon tea and evening cocktails
- Complimentary breakfast
- Complimentary refreshments throughout the day
- Complimentary suit pressing and shoe shine service
- · Boardroom and business centre
- Express check-in and check-out service
- · Late check-out till 6 p.m.

#### **BUSINESS CENTRE**

The fully equipped business centre offers a range of secretarial support, including photocopying, facsimile, scanning, binding and translation services, and even business card printing. Guests have access to a large boardroom, PCs with broadband Internet access and other essential office equipment.

## RECREATION FACILITIES

- Gymnasium
- · Indoor swimming pool
- Jacuzzi
- Massage
- · Steam rooms and sauna
- · Tennis court

# OTHER SERVICES AND FACILITIES

- Parking
- · Chauffeur-driven limousine
- · Courier and postal services
- · Gift shop
- · Safe-deposit boxes
- Same day laundry and valet service
- Travel service
- · Flower service
- Baby-sitting / child care

#### RESTAURANTS AND BARS

Restaurants / Bars	Capacity	Location	Cuisine		
eZ Café	219	Level 1	International buffet and à la carte		
Summer Palace	364 (19 private dining rooms)	Level 2	Min and Cantonese		
Lobby Lounge	125	Level 1	Snacks and beverages		
Korye Jung	52	Level 1	Korean barbecue		
Take it eZ	20	Level 1	Pastries, baked goods and beverages		

# BANQUET AND CONFERENCE ROOMS

Venue	Reception	Theatre	Capacity Banquet	Classroom	Boardroom	Dimensions (m)	Area (m²)	Ceiling Height (m)
Level 3								
Ballroom Foyer	500	•	220	•	•	9 x 54	486	3.4
Grand Ballroom	1,800	1,500	1,200	1,100	•	30 x 57.5	1,725	7.5
Fuzhou Room	600	500	350	300	•	30 x 19.5	585	7.5
Xiamen Room	600	500	350	300	•	30 x 19	570	7.5
Quanzhou Room	600	500	350	300	•	30 x 19	570	7.5
Gulangyu / Zhangzhou Room	230	330	200	210	•	17 x 23.2	394	3.4
Gulangyu Room	110	160	80	100	•	18.7 x 10	187	3.4
Zhangzhou Room	120	170	100	110	•	15.7 x 13.2	207	3.4
Sanming Room	•	30	20	20	12	8.6 x 6	52	3.4
Longyan Room	80	120	60	70	•	14.6 x 10	146	3.4
Ningde / Putian / Nanping Room	160	200	120	110	•	26.7 x 9.6	256	3.4
Ningde Room	50	65	40	45	•	9.6 x 8.7	84	3.4
Putian Room	50	65	40	45	•	9.6 x 9	86	3.4
Nanping Room	50	65	40	45	•	9.6 x 9	86	3.4
Royal Suite	•	•	8	•	•	•	54	3.0
Business Centre								
Meeting Room 1+2	•	•	•	•	16	•	40	2.7
Meeting Room 1	•	•	•	•	8	•	20	2.7
Meeting Room 2	•	•	•	•	8	•	20	2.7



